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G-1 WMultiple Cholce Questions _ S
1 The Sl unit of Viscosityis
(a) Kg.mZ s (b)kg.m™s?(c) kg.m.s? (d)N.m?2s
2 With increase in temperature, vapour pressure of a liquid
' (a) decreases (b) increases (c) no changes (d) none of these
3  Theexcluded volumeis ___ times, the actual volume of molecules.
(@)1 (b) 2 (c) 3 (d)4 |
4  Which of the following is an intensive property ?
{a) Density (b) Mass {c) Volume {d) Energy
5  Which of the following is true for Isothermal process ?
{a)Ag=0 (b)AT>0 (c}AT=0 (d).Ag>0.
6  The First Law of Thermodynamics is about ____
(a) Activation energy  (b) Conservation of energy
(c) Thermat energy  {d) none of these
7 Which one is not a colligative property ?
(a) Molality (b) Temperature
(c) Osmotic pressure  (d} Lowering of vapour pressure
8  Athigh altitudes the boiling point of water decreases because
(a) temperature is low (b) water is cold (c) atmospheric pressure is high
-{d} atmospheric pressure is low '
9  Which of the following is a property of the solution of an electrolyte.
(a) lonic mobifity {b) lonic strength {c) lonic charge (d) Al of these
10  The unit of specific resistance is ___.(a) Ohin (b) Ohn* m {c) Ohm m (d) Mho
Q-2 Short Answer Questions (Attempt TEN out of TWELVE)
1 Define: {i) Critical Pressure (ii) Critical Temperature
2 Define: (i) Viscosity {ii) Surface Tension
3 Define: (i) Vapour pressure (ii) Vapourization
4 Explain: Internal energy is a state function.
5  Define: (i) System (ii) Internal Energy
6  Explain First Law of Thermodynamics.
7  Explain the term “depression in freezing point.”
8  State Raoult’s Law with its mathematical expression.
9 Explain the term : Vapour pressure lowering
10 Define Van't Hoff factor and degree of freedom
11 Define electrolysis and electrolyte.
12

Explain the term lonic strength (p). Give it’s mathematlcal expression,
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Q-6

Answer the following Long Questions.
(A) Discuss the Van der Waal's equation at fow and high pressure.
(B) Benzene takes 46 second to flow through an Ostwald Viscometer while Water
takes 68 second, at the same temperature. Their respective densities are 0.8
gm/cm® and 0,998 gm/cm?, Coefficient of viscosity of water at the prevailing
temperature is 1.008 centipoise.Calculate the coefficient of viscosity of benzene,
OR

(A} Describe the Ostwald’s viscometer method for the measurement of viscosity

of a liquid.
(B) The Van der Waal’s constants for CHs are a = 2.25 dm® atm . mole2 and b =

0.043 dm® mole™’.Calculate its critical constants,

(A) What is state function ? Give two important properties of state functton
{B) Discuss on Thermal Equilibrium
OR
(A) Explain Spontaneous(irreversible) processes.
(B) Explain Heat capacity and derive the relation between Cp and Cv.

(A) Describe Static and Dynamic methods for the measurement of vapour-
pressure lowering.
(B) What would be the vapour pressure of a 0.5 molal solution of a non-volatile
solute in Benzene at 30 °C ?(The vapour pressure.of pure Benzene at 30 °C is .
119.6 torp),

OR
(A) Derive the equation for the elevation in boiling point,

~ (B) The molar heat of vapourization of water at 100 °C is 40.585 K).mole.At

what temperature will a solution containing 5.60 gm of glucase per 1000 gm of
water boil ? \

Explain : (1) Resistance {2) Specific Conductance
(3) Molar Conductance (4} Transference Numbers
~ OR o
Define lonic Mobility. Derive.an expression for the determination of lonic
Mobility of ions in an aqueous soltition at voltage V through the conductance
measurements,
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